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ANSWER KEY

1.
Order:
1,000 ml 0.9 NS to infuse at 100 ml/hr.  If the administration set is a microdrip, what will the rate be in gtt/min?


100 x 60  = 6000  = 100 gtt / min
                60             60

2. The physician writes an order for 500 ml D5W at 50 ml/hr.  The administration set to be used delivers 12 gtt/ml.  Calculate gtt/min.

50 x 12 = 600 = 10 gtt / min

              60           60

3. 1,000 ml of 0.9 NS with 10 mEq KCl is to infuse over 8 hours.  How many ml will the client receive in one hour?

1000 ÷ 8 = 125 ml / hr

4. Order:  1,000 ml of D5 1/2 NS at 125 ml/hr.  If the bag is hung at 8:00 p.m. and infuses on schedule, how long will it take for the entire bag of fluid to infuse?

1000 ÷ 125 = 8 hours to infuse completely      8:00 PM +  8 hours = 4:00 AM

5. An order is written to infuse 500 ml D5 0.45NS at 50 ml/hr.  If the administration set delivers 10 gtt/ml, you will adjust the gtt/min to what rate?

50 x 10 = 500 = 8.33 = 8 gtt / min

               60          60

6. Order:  500 ml of 0.9 NS with 15 mEq KCl at 50 ml/hr.  If the bag is hung at 4:00 a.m. and infuses on schedule, what will the time be when the infusion is complete?

500 ÷ 50 = 10 hours to infuse completely    4:00 AM + 10 hrs = 2:00 PM

7.
Order:
500 ml D5 0.45 NS with 15 mEq KCl to infuse over 10 hours.  How many ml will the client receive in two hours?


500 ÷ 10 = 50 ml / hr          50 ml x 2 = 100 ml in 2 hours

8.      The physician writes an order for 1,000 ml D5 W at 75 ml/hr.  A microdrip                                                       

administration set is used.  Calculate gtt/min.


75 x 60 = 4500 = 75 gtt / min
              60            60        
9.
Order:
1,000 ml 0.9 NS at 70 ml/hr.  If the administration set deliver 15 gtt/ml, what will the rate be in gtt/min?

        
70 x 15 = 1050 = 17.5 = 18 gtt / min
               60           60
10.      Order:  100 ml 0.9 NS to infuse over 30 minutes.  If the gtt factor is 10 gtt/ml, you                               

           will adjust the gtt/min to what rate?


100 x 10 = 1000 = 33.33 = 33 gtt / min
                 30           30
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